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[ 110 |
two sections — Section-A and
Section-B.
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100 obdfective type questions, ou!
of which any 50 guestions
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Use of any electronic appliances ts

strictly prohibited.
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W'y - ¥ / BECTION - A

TWI® T / Objective Type Questions

T¥T 7T 18 100 4% & Oy & wrg i Bwwy fiy 7y § frwd @ e gt @
f6=T 50wt % avT avR o 3 T W e & OMR Wie W TR
&/ SO0 x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. Yoy have to mark your selected option on the
OMR-Sheet. S0x1=50

1. 3R P(%,At),figzﬁ A(-6,5)% B(-2,3) % A3 912 @EE F
Wﬁ%t,iﬁaiﬂqﬁﬂm

(A) -8 (B) 3

C) -4 (D) "4

If P[%, 4) is the mid-point of the linc ségment joining the points
A(-6,5)and B(-2, 3), then the value of ais

(A) -8 B 3

< -4 (D) 4

2. R Ag s i IR e amw wsawmam -
(A) 1 B 2
€ O 0 3

If three points are collinear then what is the area of the triangle

made by them ?

A) 1 B) 2
Cc o ) 3
o [24(M)-H/S-41001 -no/en] . Page 3 of 48
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[110 ]
afe aaBC ¥ Y & 3w A(-1.0), B(5 -2) @ C(8,2) & @

I+ FgS & Pewiw €

(A)  (12,0) (B) (6,0)

C) (0,6} (D) (4,0]

If A(-1,0), B(5, ~2} and C(8, 2) are the vertices of & AABC then
co-ordinates of its centroid are

(A) (12,0) (B) (6,0)

(€1 (0,6) D) (4,0)

af2 @ ABC® AD, ZBACT 3¢ & aul AB= 10 &1, AC = 14 8,

BC=68Hl @ DCH AAR -
(A] 253 (B 353M
(C} 4-5udf (D) 4&A

Il in AABC, AD is the bisector of /BAC and AB = 10 cm,
AC = 14 ¢cm, BC =6 cm then the value of DC is
[A) 2:5cm (B) 35cm

({C) 4S5cm (D) 4cm

fing ABC HDE || BC mm%%%:%.uﬁm=s-ﬁz}ma

AE=?
@A) 428d (B) 3-13
cy 289 (b} 213

[24{M}-H/S-4 1001 -je0/s0) Page 4 of 48
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In AABC, DE || BC such that %%:%. [{ AC = 56 cm then AE = ?
(A) 42cm (B) 3'1lecm
(C) 2-8cm (D) 2-1cm

Uﬁamm‘ﬁgﬁﬁ@mwaﬁﬂms:sﬁﬂﬁqﬂmﬂm
@ &@m

(A} 25:36 B) 5:6

(€) 36:25 (D) 15:16

Il the ratio of corresponding sides of two similar triangles 13 S : 6

then the ratio of their perimeters is

(A) 25:36 (B) © 5:6

(C) 36:25 (D) ~15:16

AABCH AB = 6J3 @, AC= 12 B a0 BC = 6 a4t @l ~BEM
(A) 45° (B) 60°

(C) 90° (D) 120°

In AABC, AB = 643 cm, AC= 12 cm and BC = 6 cm then /Bis

(A} 45° (B] 60°

() 90° (D) 120°

afe, gaarg @ ABC ! @k g1 12 8l w1 querg fva DEF € &
&a%d (AABC)

¥ 6 &t @ &% (ADEF)

(A) 2:1 (B) 1:2
(C) 4:1 (D) 2:3
[24(M)-H/S-4100 I-ts0rsol Page 5 of 48
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[ 110
If one side of an equilateral triangie ABC is 12 cm and one side of

_ ‘ ) arca [AABC| _
equilateral triangle DEF is 6 cm then T (ADEF}

(A] 2:1 | 1:2
C) 4:1 (D) 2:3
AABC W& APQR wiwy fira ¥ fmd Ap, Wi¥ A @ BC w = t 7@

9.
PTTY PAQRW R R TR AD=9 &R @@ pT =7 4t & @ B
ABC &1 I POR % Bawell 1 a3 @m
(A) 9:7 B 7:9
(C} 16:25 (D} 81:49
AABC and APQR are similar triangles in which AD is perpendicular
from vertex A to BC and FT is perpendicular from vertex P to QR. If
AD =9 cm and PT = 7.cm, then ratio of areas of triangle ABC and
iriangle PQR is
(A) 9:7 (B 7:9
(C) 16:25 (D) B81:49
10. T wOTE B ) @ o 12 %A @ @ e I erh
A) 642 @A . (B 6/3 wdt
(€ 3/6 a (D) 646 &
If one side of an equilateral triangle is 12 cm then its height is
(Al  6J2cm (B] 643cm
(C) 3/6 cm (D) 6v6 cm
24(M)-H/S-41001-wose0r] | Page 6 of 48
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12.

13.

1i0
L 3

T e aRkeiIR AP o3RI

A1 108 B sad
€1 59 (D) 12 ¥

The distance berween two paralle]l tangents of a circle 1s 10 cm.
Then the radius of the circle is

(Al 10 cm B) 8cm

) Sam M 12cm

T §W IR W w9 R e wE W @ @ oty wRed § sen &
af 2

(a) 1 B) 2

¢ 3 Dy 4

If two circles touch each other externally then what is the number

of common tangents ?
A) 1 B 2

() 3 oy 4
el g R PR @ U PA W@ PE Q @ W d1 o & 3R

PA=6 §fi @ PB=
(A) 128 (B) 6dd
(C) 8&W (D} 18 &

[2a(M) H/S-41001 wosea] Page 7 of 43
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LS.

(110]

Frum an extemal point P, two tangents PA and PB arc drawn on a
circle. { PA=6cm then PB =
(A} 12cm (B) 6cm
(C) 8cm (D) 18cm
7R 3 ¥ft e o ¢ g W G 1 TmREn wER 60° ¥ F T FH
g @ v e 6 e
Ay 243 R By 32
4wt

(C) 343 ' (D)

Il two tangents drawn on a circle of radius 3 cm are inclined to

cach other at an angle of 60°, then the iength of ¢ach tangent is

(A) 2J3cm (B) —3‘2@cm
(C) 3/3cm (D) 4cm

aR sin(20°+6) =cos30° W 0 HT A 2

(A) 30° (B) 40°
i) Se° (D) 60°

If s5in(20°+90) =cos30° then the value of 8 is

(A) 30° (B) 40
{C) b0° (D) 60°
. [B4(M)-11/5-3 1001 -woreny T
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16. IR aABCR/C=90° @ sin (A+B)=

(A) O B) 1
(C) 1 (D L
2 "7
Ifin AABC, #C = 90° then sin (A+B)=
(A) o (B) 1
c L oy L
2 J2
17. sec?23"-tan223"4+2 =
A) O (B) 1
C 2 (D) '3

18. TR xcosb=1I, tan @ =yM x2- 4> FUA?

(A) 2 (B) 0O
€ -2 ' D) 1

If xcosB=1, tan 6 = y then the value of x? - v is

(A) 2 : B o
c) -2 B/

19, ?ﬁtanez%?ﬁsine-
4 2
(Al = M) 3

o 32

24(M)-H/S-41001-(e0/60 | Page G of 48
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20.

21.

22.

23.

f tanO:% then sin 0 =

w3 ® 2
c 3 o 2
[Teemed :
l-cos A
(A) cosec A- cot A (B)  <cosec A+ cotA
(C) cosecA.cotA (D)~ sin A -tan A

tan 5° . tan 25° . tan 30° . tan 65° . tan 85° =

(A) 1 (B) NE)
1 1
C —_— D g7
{C) T (D) 3
cos 38° cos 52° = sin 38° sin 52° =
(A) 1 (B) O
1
€ 2 D 3

cosec42’ " cos 37 _
sec 48’ sin53

1
® o G

(Cy 1 (D) 2

[110]
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24.

25.

[110]

Tfe tan{a + B} =¥3 3N tana =71§?htanﬂib‘l=n={i

(A) (B)

\!lv—

1
6
€ - 7

2 @3

If tan(a + B) =v/3 and tana =% then the value of tan p is

@ g B 1
(€ 715 o) £
2 (sin% rcosZ ] A

(A)  J2 : B) 2
© 1 D) 3

26. 3R acosO+bsin@=4 T4 asinB-bcos0=3 @ a? +b2 T TR 8

A 7 B 16
C 25 (D) . 36

If acos0+bsin6=4 and asinB-bcosf=3 then the valuc of

a’ +b2 is
(A 7 (B) 16 |
(C) 25 (D) 36

[24(M)-H/S-4100 10761 Page 11 of 48
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27.

28.

29.

[110]
3 gt & dhewell 31 3 7 y? & ) 30 B 1 S

@ £y B Yx:y

) y:x D) =<y

: .2, 2 -
The ratio of the arcas of two circles is x™: y~. Then the ratio of

their radii is

A x*:y’ B Jx:fy

€ y:x D) | x:y
feeft g9 =1 83T 495 @l A @ @t I =W AW
(A] 78 (B) 143

(C) 49@d (D) 21 &

The arca of a circle is 49n square ¢m. Then its diameter is
(A) 7 cm (B) 14 cm

(C] 49cm (D) 21cm
svedd 4R wH R B AN T R 2
(A) 400 &ft (B) 440 ®ft
(C) 28s8udi (D) 388 ¥

The distance covered by a wheel of radius 14 cm in S revolutions is

(A) 400cm (B) 440 cm
(C) 288cm (D) 388 cm
[24(M)-H/S-41001 -so/e0l | Page 12 of 48
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30. mﬁmmmﬁwﬁwmmtamaﬁmmm
gm
‘A.’ 1:1 B) 2:«x
€ m:2 D) x:2
If the area of a circle is equal to the area of a squarc then the ratio
of their perimeters is
@A) 1:1 B 2:x
C) =n:2 (D) Jx:2
31. M p(x)=x"-5x+6 W q(x)=2- 4 A A .-"_(‘i")! %1 9/ &m
g(x
(A) 2 (B) 4
< 1 (D) 3
If p(x)=x4 -9x+6 and q(x)=2~x2. then the degree of -g% 18
(A) 2 (B)
) 1 (D)
32. Pafefea d %9 Rare wftewm 2 2
A x?-3J/x+2=0 (B) x+%=x2
© x*+l=s (O] 2x*-5x=(x-17
P 4
Which of the following is a quadratic equation ?
A) x2-3/x+2=0 (B) x+%=12
€ x*+—5=5 D) 2x%-5x=(x-1)
X
—_—————— 3
[241M)-H/S-4 1001 -worsat| Page 13 of 48
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33.

34.

35.

Il:()'

o, Ram e 2 +2kx+4=0 MTH A 2R Ak P

(A] -1 (B) -2

) 2 ] (D) -4

Il one root of the quadratic equation %2 +2kx+4=0 is 2, then the

value of kis

A] -1 B) -2

< 2 Dy -4

ﬁ[x+3],ax2+x+1#l@§¢n'5'3€|?ﬁaiﬂmgpﬂ
(A) 3 B, 5

2
(C) g (D). 9

If (x+3) is a factor of ax? + x +1 then the value of a is

9

(A) 3 (B) 3
2

{C) 5 (D) ©

p % fFa T % f REm sfFm px?-2x43 =0 ¥ gm amafEs W

oA #m ?

1

(A 1 B 3

1

c 3 @) 3
[24(@-3/5-41001-[50;«,] Page 14 of 48
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36.

37.

[110 ]

For what value of p, roots of the quadratic cquation p:c2 -2x+3 =0

arc real and equal ?

G |

A 1 (B)
€ 3 i

) o 5
fomm & 6x7 - 3x45-0 & 7l @ v w1 @ 7
(A) TS @ s (B) Wty wd #9H

(€C) arares T8 - (D) %FH A #E Id
What is the nature of roots of ‘the quadratic equation

6x°~3x+5=07?

(A) Real and uncqual (B) Real and equal

(C)] Not real (D} None of these

af feama FHiF x? + x-20 =0 F1 T 4§ 4 ¥ A FH GHC A €M
(A) 5 8 -4

(Cj -5 (D) "3

If onc root of the quadratic equation x%+x-20 =0 is 4 then its

othcr root is

(A) 5 B) -4

) -5 (D) 3

[24(M)-H/S-4 lOO!-cw/mj Page 15 of 48
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38, 3R Row FAE x2+6x+5-0 F W a @ pA A o +p? &1 T Em
(A) 30 (8) 16
(C) 26 (D) 20
If @ and B are the roots of the quadratic equation x%+6x+5 =0
then the value of o +B2 is
(A) 30 (B) 16
(C) 26 (D) 20

39, fiam @t px?-gx+r=0, p=0 % g0 §

Al q qu2—4pr quq2+4pr

(B)

2p 2p
-q +yq' <4pr ~qtyg+apr
(€) (D)
2p 2p

The roots of the quadratic cquation px2 -gx+r=0, p#0 arc

qi«./qg—clpr qi“q2+4pr
(A) B)
2p 2p
—quqz-'%pr —qt{q2+4pr

40. T x = -1 a’ﬁ it 2x2+3x+p=0 3R qxz-qx+4=0 N TH
G g1 & A p+ g 1 AFH @M
(A) 1 (B) -1

) 2 (D) -2

[24(M]-H/S-31001-(s0/50) |
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If x=-1is a common root of both the equations 2x” +3x+p=0
and qx2-qx¢4=0 then the value ofb+ q is
A} L | -1
< 2 D) -2

41, TF oI ) T, e @ S 15, 6 i wd 5 A @ @ wm
ared et dawe g

(A) 200%# 2 B) 210 2

(C) 2502 (D) 2201 ?

The length, breadth and height of & cuboid are 1S m, 6 m and S m

respectively. Then the lateral surface arca of the cuboid is
(A) 200 m? (B) 210m?

(C) 250m?* (D) 220 m?

42, sUM Yo IR T T & 4 WMy T e w7 ST 0w E 7

(A) 4 (B) 8

(C) 12 (D) 16

How many cubes of side 4 cm can be formed from a cube of side

8cm?
Ay 4 (B) 8
C) 12 (D) 16
[23(M)-H/5-41001 s0/6] Page 17 of 48
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44,

u@%aﬂamﬁr#ﬁnﬂ '

e e v A A T i e g A R 2
(A) 72@#72 (B) 144‘@1‘ﬂ‘

) 128%H 2 o) 256 & ?

Three cubes of metal with cdges 3 cm, 4 cm and S cm respectively

are melted to form a single cube. What is the latcral surface arca of
the new formed cube ?

(A) 72cm? 8y 144 cm”

(C) 128 cm? (D) ~256-cm*

Q A A Bl # agure 2 3 9 TR FIET F AU 5: 32
FF Fadl T NI &

(A) 27:20 (B)-~ 20.:27

(C) 4:9 (D} 9:40

The radii of two cylinders are in the ratio 2 : 3 and their heights arc

in the ratio S : 3. The ratio of their volumes is
(A) 27:20 (B) 20:27
€ 4:9 (D) 9:40

45. R I F aHTE T HAGA 1760 AN @ a1 wWR nwr H =

14 8 2 @ Tt S8 df
(A} 10%H (B) 153
(€ 20@d (D) 40 8
[24(M)-H/S-4 1001~|50100|J Page 18 of 48
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46.

47.

1110 |

If the curved surface area of a cylinder is 1760 em? and its base
radius is 14 ¢m then its height is

(C] 20 cm (D) 40 cm
T U F TR aw e 4 3 stk stiahes e 3 @M ) AR R
d91§ 10 8 @ A vig % 3 B

(A) 120 8t 2 (B) 220&d 3
(C) 440 @) 3 (D) -~ 1540 &t 3

The external radius of a pipe of metal is 4 cm and internal radius is

3 cm. If its length is 10 cm then the volume of mctal is

(A) 120 cm® (B) 220 cm®

(C) 440cm? (D) 1540 cm” .

afe Rt g S STUR A Fioat r G4 gER Rk Sard 1 B, @ IF 7 H
Tg &1 AFE &

(A) 3 arl (B) =

) (D) 2

If ris the radius of the base of a cone and ! is its slant height then

the curved surfacc area of the cone is

(A) 3 nrl (B} mrl
(C) ?13.”} (D) 2 =zrl

’2_4[MI-H/S~4 lOOl-MIGQI Pagec 19 of 48
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48.

49.

{110|

2
© 488 n i 2 (D) 396 n ¥

The total surface area of a hemisphere of diameter 14 €m 1S

2
(A) 147 nem? (B) 198 mcm

(C) 488 ncm? D] 396 wcm?

W Y% 1 AT 1570 A B 4R g6k smm w dEee 314 7 R,

A s Fard 2
(A) 10 @ (B) 153
(€) 18@d (D) 20/H

3

The volume of a cone is 1570 cm”™. If the arca of its base is

314 cm? then its height is

(A) 10cm B) 15cm
(C) 18cm (D] 20 cm
 [28M)-H/S-41001-worenr]  page 20 of 48
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Sl.

32.

[110]
IR & Men A fsm 27 @ A 5w AT oM
(A) ":igg-i (B} lﬁgrn
o 8’ 64 nr”
) 3 (D) 3

If 2r is the radius of g sphere then its volume is

32nr3 3

A =5 (B 6z

(C) 8 nr’ (D) 64 xr’
3 3

Hﬂfmﬁ?ﬂ~3,-%,2.... @1 11 af v =1 ®m 2

(A) 28 (B). 22

(C) -38 (D) —48

What is the 11th term of the A.P. - 3, - % 2,..°

(A) 28 (B) 22
) -38 (D) -48

ani 9 41, 38, 35, ..., 8 § 9G $) FE

(A) 12 (B) 14

€y 10 (D) 15

The number of terms in A.P. 41, 38, 35, ..., 8 s
(A) 12 (B) 14

(€) 10 (D] 15

Page 2! of 48
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3.

SS.

AT AR 2, 4, 6, 8, .. % F§ S50 G W ATH QN

(A) 2500 (B) 2550

(C) 2005 (D) 2000

The sum of first 50 terms of the A.P. 2, 4,6, B, ... IS

(A) 2500 (B) 2550

[C) 2005 (D) 2000
fg (2v7, -3 ) e aqutu 2 2

(A) W (B)  fRea

© g (D) =4

The point (247, -3 } lies in which quadrant ?
(A)  first (B) sccond
(€) third (D) fourth

Rgat (2 cos0,0) TW(0,25in0) FHT R AR

Ay 1 (B) 2

() 3 . (D) 4

[ 110,

The distance between the points {2 cos8,0)and (0,2 sin ) is

(A) 1 (B) 2

€ 3 (T

[24(M)-H/S-4100T-s0r60]
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56.

57.

110 ]
A W@ x = - 27U y = 3 % Her fg 2

A) (-2,3) B) (2,-3)

€ (3,-2) (D) (-3,2)

The intersecting point of straight lines x=-2 and y = 3 is
(A) (-2,3) (B) (2,-3)

€) (3,-2) (D) (-3,2)

gt (7,-4) @ (-5, 1) & dw i g0 2

(A) 12 (B) 13

(C) 11 Dy 5

~ The distance between the points (7,~4) and (-5, 1) is

(A) 12 (B) | 13

c 11 D) S

_y—mamasﬁgaﬁﬁﬁﬂfs,—zjqa'(-3,2)13111@3@13‘:,3

A)  (0,3) B) (-2,0)

(C (0,-2) (D) (2,2)
The point on y-axis which is equidistant from the points (S, - 2)

and (- 3, 2)1is

(A} (0,3) B) (-2,0)
(€ (0,-2) (0] (2, 2)
24(M)-H/S-41001-(so60)] Page 23 of 48
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| 110
R(6,2)4W
PQRS@W% ﬁﬁgﬁé})(0,0LQ(f’:o)'

s(olz]‘giﬁmfﬂﬁm@m
A} 6 B 8

12
(C) 16 (D)

6,0), R(6,2)
PORS is a rectangle whose vertices are P (0. 0); Ql

and S(0, 2 ). The area of the rectangle is
(a) 6 | 8
) 16 (D) 12

: C &
R A(a,0), B(0,0) T C(0, b)-frl AABC ¥ T4 & @ aAB

gAEH g
(A} ab (B). .~ =ab
- (€) %az b? (D) _;_ X

If A(a2,0), B(0,0) and C(0, ¥) are the vertices of AABC then the

area of AABC is
(B Lap
(A ab :

1<) @ 3 b

[24(M)-H/S-41001 -eo/s
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Rttt & 7 agug 7 2
2
A)  x"+5 B)  9x - 4x+y2
1 3.2
€ gxlegxi+8 O x+3
Which of the following is not a polynomial ?
2
(A} x*+45 (B) 9x%-4x+42
1 3.3
() 2x +§x2+8 (D) x+%
62. WER (x°+x’+3x)(x®+x5+x2+1) F1 UM B
(A) S B) 6
{C} 11 (D) .10
. S 2 6 S 2 .
The degree of the polynomial (x™+x” +3x) (x_ +x" +x“ +1) is
(A) 5 B) 6
(c) 11 (D) 10
63. WEUG x2-11 % YA ¢
(A) 11,-11 (B) 11, -J11
) J11,-J11 (D) V11, -11
The zeroes of the polynomial x?-11 are
A) 11,-11 (B) 11, -411
€} V11, -1 (D) J11,-11
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64. ﬁ-z@-aﬁm?@x2+ta+l)x+b*wg?ﬁ
A) a=-2,b=6 B] a=2,b=-6
(C) a=-2,b=-6 D) a=4,b=6
If - 2 and - 3 are the zeroes of the quadratic polynomial
xz+(a+l)x+b,then
(A) a=-2,b=6 B) a=2,b=-6
(C) a=-2,b=-6 (D) a=4,b=6
65. IR AER x*-9x+a ¥ YRH ¥ TFEH 82 A a F AA @MW
7N I ONVEY e
(€] 8 I (D) -8

If the product of zeroes of the polynomial x* -9x+a is 8 then the

value of ais
(A) S B) -9
(C) 8 (D) -8

66. Frefeies 4 fre ffad age S v 4w - 28 7

(A)  x*-2x-8 B} x®+2x-8
[C) x*-2x+8 (D} x2+2x+8
[24(M)-H/8-41001-(s0/60) Page 26 of 48
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68.

| [110])
Which of the following quadratic polynomials has zeroes
4and - 27

(A)  x®-2x-8 (Bl x%+2x-8

(C) x*-2x+8 (D) x%+2x+8

TR p(x)=x? +3x-4 % §F o W pA D “Tf’ &1 9 &

A -1 B 1
(C) 4 D) -4

If a and B are the zeroes of the polynomial p[x]=x2+31-4 then

the value of GTB is
A) -1 (B) 1
C) 4 b -4

If2 TgIE q(x) T TE TI& - 38 A g(x) F T PrA@s T
(A) x-3 B) x+3

l
© —3 O 53

If one zero of the polynomial g{x) is — 3 then one factor of g(x) is

(A) x-3 (B) x+3
1
]
() x-3 D) 333
24(M)-H/S-41001-isor6a) | - Page 27 of 48
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70.

71.

| 110
I 3
‘qﬁ f[x]=x4-2x3-x+2 N g(x)=12-3x+2 ] W ﬁ‘n m

WITER %1 O B
(A) 4 B8 2
(€ 3 Dy 1

I fix)=x"-2x-x+2 is divided by g(x)=x?-3x+2, then the
degree of the quotient is

I | 2

c 3 D)

IR WEHE x?- 3(x+1)-5 F IEF a WE A D (a+1) (p+1) T AR LM
A3 (B -3

€) -4 : (D) "4

If a and p are the zeroes of the polynomial x?=3(x+1)- 5 then the

. value of (a+1)(B+1)18

(A) 3 (8) -3
c -4 ' (D) 4

- yem 2g faww denai & e 2

(A) 100 (B] 10
i) SO (D) 20

The mean of first ten consecutive odd nurmbers is

(A)] 100 B) 10
(€ 50 D) 20
[%Mmmﬂ Page 28 of 48
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72. 15.6,16, 8,22, 21,9, 18 259 ey R
A) 16 B 15
< 21 (0] 8
The median of 15, 6, 16, 8, 22, 21,9,18,25is
(A} 16 (B) 15
(C) 21 (D) 8

73. 0,6,5,1,6,4,3,0,2,6,5,6% S5 ¢

Ay S (B) .6
(€ 2 (Dy 3
The mode 0f 0, 6, S, 1, 6,4, 3,0, 2,6, 5, 6 is
A) S B) 6
G 2 o 3

74. UH SEARAl 424 & HIfAH] W@ dgah FA: 48-64 Td 46-52 & @ 34HI

\rtg &
(A) 49-70 (B) 49
(C) 50 (D) T @ ®i§ @

i24(M)-H/S-410_Ol -muo.j Page 29 of 48
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76.

(110

e F1th 48:64 and
The median and mode of a frequency distribution arc

46-52 respectively. Then its mean is
(A) 4970 B) 49
€ S0 : (D) none of these

Ife gta i x,x+2.x+4.x+6\‘@.x+8ﬂm llﬁﬂxmm
am

A) S @] 6
< 7 (D) B

[f the mean of five ohservations x, x + 2, x + 4, x+ 6 and x + 8 (s

11 then the value of x is

(A) 5 By 6
<c 7 (D) 8
T NEWE 9eA1 S Wil 41 gl 2

A 2 B 0

) 1 (D) 1®/ R

What is the probability of an impossible event ?

(A) -%- (B) ©
(C) 1 (D) more than 1
24(M)-H/5-41001-(s0;80, ‘ Page 30 of 48
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78.

| 110]
afe P(E)-0-4 p(E') ®Iam @
(A) 096 B) 06
€ 1 (D) 0-06
Il P(E)=0-4 then the value of P(E') is
(Al 096 (BY 06
< 1 (D) 006
Q) grEl # & § 99 ghondl 6§ 2
(A} 12 ‘ (B) 20
(€] 36 (D) &
In the throw of two dice the number of possible outcomes is
(A) 12 (B) | 20
€ 36 (D) 6
fraferfign § w3-dt-gen e gz 6 mivsa 78 @ wdl 2 2
(A) 06 B) 15
C  75% (D) %

Which of the following numbers cannot be the probability of an

cvent ?
(A) 06 (B) 15
(C) 75% (D) %
24(M)-H/S-4 1001 -ts0/60) Page 31 of 48
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82.

[110|
'_)
N T R LA

1
(A) o B 7

© 3 O 1

: in a throw of
What is the probability of not getting an odd number !

a die once ?

1
(A O (B) 2
1
{C) 3 (D) 1
TR 2a + 3b=8TH 3a-4b=-5¢al
(A) a=1,b=2 (B) a=2,b=1
(C) a=-1,b=2 D) a=2,b=-2

If 2a+ 3b=83nd3a-4b=;5, then

(A] a=1,b=2 B) a=2,b=1

(C) a=-1,b=2 D) a=2, b=-2

Waw wftetn T0 2x-3y=8 W 4x-6y=-9 &

(A) € (B] HEWq

() 3uf¥a (D) A w4

The pair of lincar equations 21—3y.=8 and 4x-0y=9 are

(A) consistent (B) inconsistent

(C) dependent (D) none of these

24(M)-H /S-41001-(s0/60, |
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83.

84.

| 110]
gfiet 2x4+3y=4 W& 4x+6y=12 & MY forg yr H T@ W@l

g ?
(A)  ®IE T End (B) WWint §ee T@rd
() v wa w@rd (D) W A = T

The graphs of the cquations 2x+3y=4 and 4x+6y=12 arc which
type of straight lines ?

(A) Coincident straight lines

(B) Parallel straight lines

(C) Intersecting straight lines

(D) None of these

Tl PiEm 2x- 3y +1= 0 a9 3x+y+2 -0 F g & 2

A) wARIFIAG A (B) wRT T

() fa g (D) 39 A & T

How many solutions does the system of linear equations
2x-3y+1 =0 and 3x+y+2 =0 have ?

(A) one and only one solution

(B) no solution
(C) infinitely many solutions

(D) nonc of these
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87.

[ 110,
k % Frm T ¥ Rre adve BEm xr2y=3 70 Sxrky=15 % u

wE?
A} S ' B) 10
Cy 6 (D) 12

For what value of k, has the system of lincar cquations X+2y=3

and 5x+ ky= 15 infinite solutions ?

(Al 5 (B) 10

€ 6 D] 12

Prafafaa § @ anim 49 2 2

(A)  0-3,0-33, 0:333, ... (B) - 1,71, ks ...

(C) 2,4,8, 186, .. 2Rl BRAH o ..

Which of the following 1s an A.P. ?

() 0-3,033,0333, ... B8 1,11, 111, ..

(C) 2,4.8,16, .. (D 0,-4,-8-12,..
phframm & fm e (2p+ 1), 13, (5p-3)Eam A & 2 »
Ay 3 B) 4

() 12 (D) 6

For what valuc of p,terms (2p+ 1], 13, (S5p~3)arcin AP. ?
(A) 3 B 4

€ 12 D)y 6

[24(M|-H/S-4 lOO_l-[go“m Page 34 ;FI;
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89.

80.

| (110]
e a, TR AP 3, 8, 13, 18, ... W n Al w b A a,, - ay, F1 T

gm ?

Il @, is nthterm of A.P. 3, 8, 13, 18, ... then what is the value of

Qs =Q5 ?
(A) SO (By 75
(C) 40 [D} S5

Hﬂfﬁt?@aﬂqﬂﬂwxaimmsﬁwzsﬁﬁ?%w“ﬁm
. :

(A) S ta) |

c 3 (D) 6

The 2nd term of an A.P. is 13 and its Sth term is 25. The cornmon
difference of the AP. is

(A) S (B) 4

c) 3 D) 6

IR} guiat A F TUH n 9 H AN (5n-n?) T N TR A 1 ¥ 3w
gm

(A) 4 (B) -2

€ 2 D) 6
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11101

. 2 en the com
If sum of first n terms of an A.P. is (9n-" ) th Mon

difference of the A.P. is

(A) 4 | (B) -2
< 2 (D) ©
64 16
81 *yo ¢
(A) oo dem (B) ~ F9REa H&A
(C) quls w=n (D) XT&a @&l
64 16 .
R
(A) Rational number (B]  Irrational number

(C) Aninteger (D) Natural number

QA st Wens 3446 AN 3-J5 F EEA 201 T

(A) <o ' (B) 3T w@

(€ Tl wem (D)  W&d e

The product of two irrational numbers 3+J6 and 3-45 will b
a/an

(A)  Rational number (B)

Irrational number

(C) Integer (D) Natural number

——— s

e e
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93.

94,

9s.

(0-3 +0-4 ) %) Fm &1 §

z 7
A —
(A 10 B) 3
7 7
o = 7
© 53 . D) 5

The simplest form of (O~§ + O-Z] 1S

7
A 5 - (B) g—
L 7
© P17 5

R 156 = 2" x Y %132 WD x+ y+z=

(A 4 . ByS
c 3 ©) 6

If 156 =2*x3Y « 13*, then x +y+ z =

(A) 4 (B) S

(c) 3 (D) 6

J10 xJ15

(a) ofta @@ (B} FuiAG WG

(C) Ui wE (D) TFA FEA

J10 x/15 is

(A) Rational number (B) Irrational number
(C) [nteger (D) Natural number

(110]

== e — — ——
24{M)-H/S-41001-(s0/60) |
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97.

98,

| 110
z"ps"‘ ¥ ¥ 0105 # foran 1 Wl 2
x
21
(A) 2, 52 ' (B) 2B x 53
21 _21
(C) 53';?_’5- (D) 2% 53

In the form of 2 , 0-105 can be writien as

2" g™
21 21
A —_— B
A 2% x 5% i 2°x 5°
21 21
@ D u
(c) 2 4 52 (D) 2Zx 53

IR QA €@ F HoHo = 25 HR A6Ho -soaﬁ.maﬁmm
B

(A) 1250 (B) 1150

(C) 1350 (D) 1050

If H.C.F. of two numbers = 25 and L.C.M = 50 then the product of
numbers will be

(A) 1250 (B) 1150

(€] 1350 (D} 1050

afe s weRen a=bg+r A b=61,9=27 T r=32 A A q F TH
=] R 2
A) 1679

(B) 1600

(C) 1663 D) 1696

[24(M|-H/8-31001- 6076 Page 38 of 48
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100.

{ 110 ]

I divindon algorithn « bger, b =61, 4«27 and r - 32, then

wlutt 18 the value of g P

(A} 1679 B) 1600
(<)ool ) 1696

ald ¢ @ v yulg B Q) Meaflve F @ o wmns faan qorle R 2

(A)  6g11 M) 6g+2
(C) Og¢+Aa () Gg+ 6

Il g is o posilive integer, which of the following s an odd positive

inleger ?
(A) 6q+1 B) . 6g+ 2
(C) 6q+4 (D) 69+6

&) eITeR faw denal %1 vodo ¥ R

A) O B) |
cy 2 (D) 3
The H.C.F. of tlwo conseculive add numbers is
(A) O 12) .

2 (D) 3

[734'[&]?](__7:{._4‘1-06 1 -160/00) l Page 39 of 48
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[110]
gvg - @ / SECTION - B

&Y 2930 9¥T / Shost Answer TyP€ Questions

i # 1507 F € &)

1 _
vt & fre 2000 Fratfa 1 $x2=3

Question Nos. 1 to 30 are Short Answer Type Quesfions. Answer any,

15 questions. Each guestion carries 2 marks.

l.

?5x2=30
@ N & dawe g wt faes W g #0040 (3,6 )1
(-8,-2)8l 2

Find the area of the triangle, whose vertices are {0, 4 ), ([ 3, 6 ) apq

(-8, - 2) respectively.

TR A&t © cosec 39° cos 51° + 1an 21° cot 69° — sec *21° 7

Evaluate : cosec 392 cos 51° + tan 21° cot 63° — sec2? 1°,

fag =t & sec'8-tan'@=1+2tan’86. 2
Prove that sec? 8- tan* 0=1+2tan’ 0.

fag ®t % (V2 +2)? & g den ) 2
Prove that (V2 + 2)2 is an irrational number.

oo xgee -3 % o W w ok T i ¥ dhe ® 6
) goar A af\ K 2

Find the zeroes of the quadratic polynomial x* -3 and verify the

rclationship between the zeroes and the co-efficients

e e —
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10.

11.

| 110 ]
L[ xd‘zxa—'x+2ﬁiﬁx2-3x+2ﬁmé[ 2
Divide polynomial x* ~2x - x+2 by the polynomial x?-3x+2.
gfe1s e teiften 1 yain a0 252 @@ 594 F1 Fo Wo WA KU 2
Using Euclid division algorithm, find the HCF of 252 and 594

i 2
frafafea AfF3 w1 ey 9 =t .

W 4 6 8 10 12
SRARA 4 8 14 11 3
Find the mean of the following data : |
Variable 4 6 3 10 12

Frequency 4 Tl 14 11 3
@ 30 A w6 A A1 g8 F 38 AT H el AeE N @ F FR A
s P 2

A circle is of radius 6 cm. Find the length of that chard of the

circle, which is at a distance 4 cm {rom centre of the circle.

ufs 4g9E (@ +2)x%-3ax-2 ¥ T TIF G H HOGH @ 9 Tg%

|and| 2

If one 2ero of the polynomial ,(a+2)x2-3a.x—2 is negative of other
then find the polynomial.

Aw o G T F YA IR F Mo AR @@ A 9 Jrg € @
G & 21 Fw I IR 1 T FUA & gfiwm fagh 2

The sum of the digits of a two-digit number is 9. If 9 is added to the
number the digits of the number arc reversed. Write the equation

for these statements.

————— e - 2
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13.

14.

15.

l6.

17.

[ 110,
gfrem @ faey

FRE G0 Y2 x4 3y 20 7 J3x-vBy =0
i @ 7 =) i
_J8y =0 by
Solve the pair of equations 2 x +4J3y =0 and f3x Y8y by

the method of substitution or climination.

T TN ) Gl g @ Sard Fae: 26 9, 14 f aw 65 A & @
TN F 9 gt Qe 7 A 2 2

The length, breadth and height of a cuboid are 26 m. 14 m and

6:5 m respectively. Find the lateral surface area of the cuboid.

3
fodt A1 % IHTE w1 AIwS AW WA FAV: 264 $2 aen 396 M7 &
R B @ $9vd e =t 2

The curved ;urfacc area and volume of a cylinder are 264 m? and
396 m* respectively. Find the radius and height of the cylinder.

feeh vig % WUR A fivm 747 aft g $ard 21 AN R A IF F AR
Ecac ]! -2
The base radius of a cone is 747 cm and its height is 21 cm. Find

the volume of the cone.
afz fFf AP. ¥ YUM 14 & 1 AW 1050 2 AW IWR IYH G 10 @
20 a1 92 F1d B 9

If the sum of the first 14 terms of an A_P. is 1050 and its first term
is 10, find the 20th term.

AP FTM N R mAM AR S ad sm 72 sl 22l wm
149 2| 2

Find the sum of first 22 terms of an A.P. in which common
differcnce is 7 and 22nd term 1s 149,

[24(M)-H/S-3 100 1-e07ear] Pagc 42 of 48

Previous Pathshala




18.

10.

20.

21.

22.

23.

24,

1110

TR BS ABC ) 5% 31 o 3 A fig * & B w1 o o9

—Jzia & 2
Each side of an cquilateral triangle ABG is a. Provc that thc
alutude of the triangle is %a.

Rana sfiwm 9x2_6x.) -0 % frdws g9 &t w@ M gen # T
T | 2

: — : 2 -
Find the discriminant of the quadratic cquation 9x™ —6x+1=0

and hence find the nature of the roots.

k & R met & frg Rum afiwm (ks )x2-2(k-1)x+1=0 & &
W B P 2
For what wvalucs of &k  has thc quadratic cquation
(k+1)x?-2(k-1)x+1=0 equal roots ?

R &) AP, 1 fiwu s Aaf w0 4 M-8 F A W AP T
FT-T W Y &0 ? 2

Il the 3rd and the 9th terms of an A.P. are 4 and - 8 respectively,

which term of this A.P. is zero ?

k & f&a o & fore adflem kx+y=1 3R (k+1)x+2y=3 +1 #% g
T 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.

4tan?45" +c0s230 -sin?2 60" F.HM A Hi| 2
Find the value of 4tan?45’ +cos?30°-sin?60°.

gl x+%=3,x¢0 * gl & @ HU >

Find the roots of the equation x+%=3, xz0.

e —
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27.

28.

29,

30.

[ 110

AABC @& TaReas finga k RredAB = AC - 13 diaR A A8 BCw

R GE PR R R E LR R 2
in which AB = AC = 13 cm. If the

AABC 15 an isosceles triangle
o BC is 5 cm, find the

length of perpendicular from the vertex A

length of BC.
x R Pt Rem forg Rgall p(x, 4) @ Q(9,10) F T H @
10 T8 R 2

Find the value of x for which the distance between the points
P(x,4) and Q(9, 10) is 10 unils.

A3l (- 3, 10) ol (6, - 8) A1 T taraE F g (- 1, 6)
FuTd B ffaa e @ 2 2
In what ratio docs the point ('— 1, 6} divide the line segment joining
the points (-3, 10 ) and (6,-8)7?

T 15 ) 7 ) fan F ww 600 W PO A R) A w 3w Mg D

Far s #t gl Hi) dan « @i w21 2

A ladder 15 m long makes an angle of 60° with the wall. Find the

height of the point on the wall where the ladder touches the wall.

& gt ) fime ) g§ ) dad 15 aft 81 20 fme T S g Am Rew
T RA%A Fd Hi 2

The length of the minute hand of a clock is 15 cm. Find the area
swept by it in 20 minutcs.

2 aret F T T G AT ) T K I KRS 3 T W 9 @ w2
& 4 H Wi @ gl 2 2

Two dice arc thrown al the samc time. Find the probability that the

sum of the tlwo numbers appearing on the top of the dice are morc

than 9.
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T 7988 W / Long Anawer Type Questions

T W 31 W 38 A 3ty W ¥ g @ P 4 v & 3w 1 wdw
W F T 5 simw fratfia ¥ 4x5=20

Question Nos. 31 to 38 are Long Answer Type guestions. Answer any

4 questions. Each question carries S marks. 9x5=20

31. Yo% @0 o 3x_5541=0 @M 22-y+3-0 T AT T IR
7w 5
Draw the graph of the pair of linear equations 3x-5y «1=0 and

2x -y +3=0 and solve them.

32. U® IWAHR A w1 damE 260 91 AR 21 3@ W 5 fler W AR
NErd 2 fz fts A ) @ ITER @ T2 HEarER deF R FEn

3k <tz B | 5

The arca of a rectangular ficld is 260 square metre. If its length
becomes 5 metre less and breadth 2 metre more, it becomes a

square field. Find the length and breadth of the rectangular field.
33. fae # % Q) gosy i@l & Sawat w1 F9 76 G| el & I &
| 37N & WO Fav 2 5

Prove that the ratio of the areas of two similar tnangles is equal to

the ratio of the squares of their carresponding sides.

3 3
0 0 0
fra =+t & sc2c e se?c = sec0 cosecO (secD + cosecO ).
secc“0-1 cosec“0-1

34.

S

3 3
sec” 0 cosec™0
Prove that —= + 5 = Sec0 cosecO (secO + cosec ).
sec*0-1 cosec“D9-1
o e —————
[24(M)-H/S-41001 -ss0/60; Page 45 of 48

Previous Pathshala




(>

36.

37.

110
m7mmzomm@§mmmgw@}aﬁﬁﬁm§éﬁ@

ﬁmmﬂ%mm;ﬁx14ﬂamgﬂmﬂmmglmm
® $9r I wt) 3

A 20 m deep well with diameter 7 m is dug and the soil from

digging is evenly spread out to form a platform of 22 m > 14 m,

Find the height of the platform.
& fFR & wR-R ¥ & vaz & R #1 33 6 30° @ 3R ORE &

TR faR @ M % et W 3 @ s0° 21 TR A so R @ A
Wflhﬂmﬁ‘ 5

The angle of clevation of the top of a building from thc foot of a

tower 1S 30° and the angle of elevation of the top of the tower from
the {oot of a building is 60°. If the tower is 50 m high, find the
height of the building.

4 A1, 5 aft 3 6 W Y=l T T @ ) w0 K i A s
ey Th ¥ e © =N w5 e gand vum i 6 @ s
2 R iy 5
Construct a triangle of sides 4 cm, S cm and 6 cm and then

construct an another triangle similar to it whose sides are 2 of the

3
" corresponding sidcs of the first triangle.
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Eﬁmﬁmmwa@mﬁ: 5
“@)-¥aya  B80-85 | 85-00 90-95 | 95.100 100-105 105-110 110-115

i@l a3 27 85 155 110 45 15

Find the mode of the following distribution

Class- 80-85 85.90 90-95 95-100 | 100-105 105-110 110-115
interval
p’ 15
Frequency 33 27 85 155 110 45
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